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Question Id : 92090615386 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

It depends on who is giving the rating: Centre on India’s rank in
press freedom index

KRISHNADAS RAJAGOPAL, NEW DELHI

Solicitor-General Tushar Mehta, appearing for the government in the Supreme
Court on Tuesday, made light of India's fall to 1615t position in press freedom
ranking, saying “that depends on who is giving the rating. I can have my own forum
and give India the first rating”.

The remake was in response to the Supreme Court’s observation that India has
fallen to the 161%t position out of 180 countries in the World Press Freedom Index
published by the non-profit organization, reporters Without Borders. In 2022, India
was ranked at 150.

India is ranked behind countries such as Afghanistan, Pakistan and Somalia.

“India 15 161 in ranking in journalistic freedom,” Justice K.M. Joseph,
addressed the Union and Gujarat government, represented by Mr. Mehta during a
hearing in the Billkis Bano case.

HEARING ON JULY 10

: Change between Justice Joseph and Mr. Meht came while the Supreme
Court ordered the publication of a notice giving the details of the case and the next
date of court hearing, July 10, in two vernacular papers in Gujarat to alert those
unserved among the 11 convicts who were released prematurely from their life
imprisonment. They had been found gulty of the gang rape of Ms. Bano and the
murder of her family members. Ms. Banop and other writ petitioners have separately
challenged their remission.

The hearing, at one point, saw the Supreme Court wonder whether some of the
released conviets were making a “mockery” of or even “playing” with the court by
either going incognito to hamper the serving of notice of the case on them or seeking
time to file counter affidavits. Previous hearings have been a no go with lawyers for
the men seeking adjournment on procedural grounds.

The court decided to publish the notice in the newspapers so that the convicts
would not take the plea of ignorance and the case could go ahead and be heard on
merits.

Sub questions

Question Number : 1 Question Id : 92090615387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym of the term ‘incognito’ is:

(1) Inclusive (2) Inaudible
(3) Undutiful (4) Concealed
Options :

92090660801. 1
92090660802. 2
92090660803. 3
92090660804. 4

Question Number : 2 Question Id : 92090615388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Made light of means:

(1) Removed darkness
(2) Put something on fire
(3) To act as if something is serious especially when it is not serious

(4) Play down

Options :

92090660805. 1
92090660806. 2
92090660807. 3
92090660808. 4

Question Number : 3 Question Id : 92090615389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The antonym of ‘remission’ is:
(A) Exoneration

(By Censure

(C)  Reprieve

(D) Increase

Choose the correct answer from the options given below :

(1)  (A)and (B)
(2)  (B)and (C)
(3)  (B)and (D)
(4) (D) only
Options :
92090660809. 1
92090660810. 2

92090660811. 3
92090660812. 4

Question Number : 4 Question Id : 92090615390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Going incognito’ means:

(A) Using false name
(BY Wearing a disguise
(C) To be recognised
(D) Not to be identified.

Choose the correct answer from the options given below :

(1)  (A)and (D)

(2) (A), (B)and (C)

(3)  (A), (B), and (D)

(4) (A, (B), (C) and (D)

Options :

92090660813. 1
92090660814. 2
92090660815. 3
92090660816. 4



Question Number : 5 Question Id : 92090615391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Justice K.M. Josheph addressed Gujurat Government during the hearing?

(1)  Gujurat is the reason behind our sharp fall in press freedom ranking
(2) India 1s ranked 161, behind nations such as Pakistan, Afganistan ete.
(3) Bilk is Bano case was iniatiated and registered in Gujurat.

(4)  The murder convicts were not arrested by the then Gujurat government.

Options :

92090660817. 1
92090660818. 2
92090660819. 3
92090660820. 4

Question Id : 92090615386 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



It depends on who is giving the rating: Centre on India’s rank in
press freedom index

KRISHNADAS RAJAGOPAL, NEW DELHI

Solicitor-General Tushar Mehta, appearing for the government in the Supreme
Court on Tuesday, made light of India’s fall to 1615t position in press freedom
ranking, saying “that depends on who is giving the rating. [ can have my own forum
and give India the first rating”.

The remake was in response to the Supreme Court’s observation that India has
fallen to the 161%t position out of 180 countries in the World Press Freedom Index
published by the non-profit organization, reporters Without Borders. In 2022, India
was ranked at 150.

India is ranked behind countries such as Afghanistan, Pakistan and Somalia.

“India 15 161 in ranking in journalistic freedom,” Justice K.M. Joseph,
addressed the Union and Gujarat government, represented by Mr. Mehta during a
hearing in the Billkis Bano case.

HEARING ON JULY 10

: Change between Justice Joseph and Mr. Meht came while the Supreme
Court ordered the publication of a notice giving the details of the case and the next
date of court hearing, July 10, in two vernacular papers in Gujarat to alert those
unserved among the 11 convicts who were released prematurely from their life
imprisonment. They had been found guilty of the gang rape of Ms. Bano and the
murder of her family members. Ms. Banop and other writ petitioners have separately
challenged their remission.

The hearing, at one point, saw the Supreme Court wonder whether some of the
released conviets were making a “mockery” of or even “playing” with the court by
either going incognito to hamper the serving of notice of the case on them or seeking
time to file counter affidavits. Previous hearings have been a no go with lawyers for
the men seeking adjournment on procedural grounds.

The court decided to publish the notice in the newspapers so that the convicts
would not take the plea of ignorance and the case could go ahead and be heard on
merits.

Sub questions

Question Number : 1 Question Id : 92090615387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the term ‘incognito’ 1s:

(1) Inclusive (2) Inaudible
(3)  Undutiful (1) Concealed



Options :

92090660801. 1
92090660802. 2
92090660803. 3
92090660804. 4

Question Number : 2 Question Id : 92090615388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Made light of means:

(1) Removed darkness
(2) Put something on fire
(3) To act as if something is serious especially when it is not serious

(4) Play down

Options :

92090660805. 1
92090660806. 2
92090660807. 3
92090660808. 4

Question Number : 3 Question Id : 92090615389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The antonym of ‘remission’ is:
(A) Exoneration
(B) Censure
(C) Reprieve

(D) Increase

Choose the correct answer from the options given below :

(1) (A) and (B)
(2)  (B)and(C)
(3) (B)and (D)
(4) (D) only

Options :
92090660809. 1



92090660810. 2
92090660811. 3
92090660812. 4

Question Number : 4 Question Id : 92090615390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘(zoing incognito’ means:

(A) Using false name
(B) Wearing a disguise
(C) To be recognised
(D) Not to be identified.

Choose the correct answer from the options given below :

(1)  (A)and (D)

(2 (A), (B)and (C)

(3)  (A), (B), and (D)

(4)  (A), (B), (C) and (D)

Options :

92090660813. 1
92090660814. 2
92090660815. 3
92090660816. 4

Question Number : 5 Question Id : 92090615391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Justice K.M. Josheph addressed Gujurat Government during the hearing?

(1)  Gujurat is the reason behind our sharp fall in press freedom ranking
(2) India is ranked 161, behind nations such as Pakistan, Afganistan ete.
(3)  Bilk is Bano case was iniatiated and registered in Gujurat.

(4)  The murder convicts were not arrested by the then Gujurat government.

Options :

92090660817. 1
92090660818. 2
92090660819. 3



92090660820. 4

Sub-Section Number : 2
Sub-Section Id : 920906494
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090615392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word VINDICTIVE' is

(1) Revengeful (2) Bigoted
(3)  Demonstrative (4) Strategic
Options :

92090660821. 1
92090660822. 2
92090660823. 3
92090660824. 4

Question Number : 6 Question Id : 92090615392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word "VINDICTIVE' 1s

(1) Revengeful (2) Bigoted
(3) Demonstrative (4) Strategic
Options :

92090660821. 1
92090660822. 2
92090660823. 3
92090660824. 4

Question Number : 7 Question Id : 92090615393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the options given below:

The e-cycle project the city 1s slowly finding takers most of them college
students who would earlier depend cabs and bike taxis
commuting.

(1) in, upon, to (2) in, on, for

(3) in.off, for (4) on, with, on

Options :

92090660825. 1
92090660826. 2
92090660827. 3
92090660828. 4

Question Number : 7 Question Id : 92090615393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

The e-cycle project the city is slowly finding takers most of them college
students who would earher depend cabs and hike taxis
commuting.

(1) in, upon, to (2) 1in, on, for

(3) in.off, for (4) on, with, on

Options :

92090660825. 1
92090660826. 2
92090660827. 3
92090660828. 4

Question Number : 8 Question Id : 92090615394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the meaning of the term “Bon vovage”

(A) Used to express good wishes to someone about to set off on a journey.
(B) Good morning.

(C) Long Journey.

(D)  Good night.

Options :

92090660829. 1
92090660830. 2
92090660831. 3
92090660832. 4

Question Number : 8 Question Id : 92090615394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the meaning of the term “Bon vovage”

(A) Used to express good wishes to someone about to set off on a journey.
(B) Good morning.

(C) Long Journey.

(D)  Good night.

Options :

92090660829. 1
92090660830. 2
92090660831. 3
92090660832. 4

Question Number : 9 Question Id : 92090615395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following option:-

(1) BITUMENEZE (2) BIBEMINIZE
(3) BETUMINEZE (40 BITUMINIZE
Options :

92090660833. 1
92090660834. 2
92090660835. 3
92090660836. 4



Question Number : 9 Question Id : 92090615395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following option:-

(1) BITUMENEZE (2) BIBEMINIZE
(3) BETUMINEZE (1) BITUMINIZE
Options :

92090660833. 1
92090660834. 2
92090660835. 3
92090660836. 4

Question Number : 10 Question Id : 92090615396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of open spaces 1s called:

(1) Agoraphobia (2) Anachronism
(3)  Anecdote (4) Apiary
Options :

92090660837. 1
92090660838. 2
92090660839. 3
92090660840. 4

Question Number : 10 Question Id : 92090615396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of open spaces is called:

(1) Agoraphobia (2) Anachronism
(3) Anecdote (4) Apiary
Options :

92090660837. 1
92090660838. 2
92090660839. 3
92090660840. 4



Question Number : 11 Question Id : 92090615397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A boat goes 12 km in one hour along the stream and 6 km in one hour against the
stream. Th speed of the stream in km/h 1s:

(1) 2 (2) 3
(3) 4 (4) 5
Options :

92090660841. 1
92090660842. 2
92090660843. 3
92090660844. 4

Question Number : 11 Question Id : 92090615397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A boat goes 12 km in one hour along the stream and 6 km in one hour against the
stream. Th speed of the stream in km/h 1s:

(1) 2 (2) 3
(3) 4 4 5
Options :

92090660841. 1
92090660842. 2
92090660843. 3
92090660844. 4

Question Number : 12 Question Id : 92090615398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For x = 3, find the value of " +x* - x' —x" +x-1.

(1) 280 (2) 270
(3) 290 (4) 300
Options :

92090660845. 1
92090660846. 2



92090660847. 3
92090660848. 4

Question Number : 12 Question Id : 92090615398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For x = 3, find the value of x" +x* - x* —x" +x-1.

(1) 280 2) 27
(3) 290 (4) 300
Options :

92090660845. 1
92090660846. 2
92090660847. 3
92090660848. 4

Question Number : 13 Question Id : 92090615399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sides of three solid metallic cubes are 30em, 40cm and 50¢m respectively. Find
the side of the new cube formed by melting the three cubes (in em)

(1) 60 (2) 120
3) 90 (4) 80
Options :

92090660849. 1
92090660850. 2
92090660851. 3
92090660852. 4

Question Number : 13 Question Id : 92090615399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sides of three solid metallic cubes are 30em, 40cm and 50em respectively. Find
the side of the new cube formed by melting the three cubes (in ¢m)

(1) 60 (2) 120
3) 90 (4) 80



Options :

92090660849. 1
92090660850. 2
92090660851. 3
92090660852. 4

Question Number : 14 Question Id : 92090615400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ankit owes ¥ 42,580 on his credit cards, but he could pay only ¥ 12,580. If the annual
rate of compound interest 1s 10%, then how much will he owe after 4 years?

(1) Rs. 42,580 (2) Rs. 43,000
(3) Rs. 43,923 (4) Rs. 44,228
Options :

92090660853. 1
92090660854. 2
92090660855. 3
92090660856. 4

Question Number : 14 Question Id : 92090615400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ankit owes ¥ 42,580 on his credit cards, but he could pay only  12,580. [f the annual
rate of compound interest is 10%, then how much will he owe after 4 years?

(1) Rs. 42,580 (2) Rs. 43,000
(3) Rs. 43,923 (4) Rs. 44,228
Options :

92090660853. 1
92090660854. 2
92090660855. 3
92090660856. 4

Question Number : 15 Question Id : 92090615401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The perentage of loss when an article is sold at Rs. 50 is the same as that of the profit
when it 1s sold at Rs. 70. Percentage of profit or loss on the article 1s

(1) 10% (2) 12%
(3) 16 2";" (4) 8 Lo
£ )} — S0 L =l
3 3
Options :

92090660857. 1
92090660858. 2
92090660859. 3
92090660860. 4

Question Number : 15 Question Id : 92090615401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The perentage of loss when an article is sold at Rs. 50 is the same as that of the profit
when it 1s sold at Rs. 70. Percentage of profit or loss on the article 1s

(1) 10% (2) 12%
(3) 16 2";" (4) 8 Lo
£ )} — S0 & — %0
3 3
Options :

92090660857. 1
92090660858. 2
92090660859. 3
92090660860. 4

Question Number : 16 Question Id : 92090615402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number comes next in the following series?
0, 5, 22 57, 1186,
(1) 216 (2) 205
(3) 207 (4) 192
Options :
92090660861
92090660862.

92090660863.
92090660864.

AW N =



Question Number : 16 Question Id : 92090615402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number comes next in the following series?
0, 5,22 57 118,
(1) 216 (2) 205
(3 207 (4) 192
Options :
92090660861.
92090660862.

92090660863.
92090660864.

AW NN~

Question Number : 17 Question Id : 92090615403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following group best represented by the figure below:

{(A) Men, Citizions, Educated
(B)  Professionals, Doctors, Lawvers
(C)  Diseases, Leprosy, Scurvy
(D) Earth, mountain, Forests.

(E) Atmosphere, Water, Hydrogen.

Choose the correct answer from the options given below :

(1)  (A) and(B) only
(2) (B) and (D) only
(3)  (A) and (D) only
(4)  (C) and (E) only
Options :



92090660865. 1
92090660866. 2
92090660867. 3
92090660868. 4

Question Number : 17 Question Id : 92090615403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following group best represented by the figure below:

(A)  Men, Citizions, Educated
(B)  Professionals, Doctors, Lawvers
(C) Diseases, Leprosy, Scurvy
(D)  Earth, mountain, Forests.

(E) Atmosphere, Water, Hydrogen.

Choose the correct answer from the options given below :

(1) (A) and(B) only
(2) (B) and (D) only
(3 (A) and (D) only
(4) (C) and (E) only

Options :

92090660865. 1
92090660866. 2
92090660867. 3
92090660868. 4

Question Number : 18 Question Id : 92090615404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenitfy the correct water — image of the fig. (X)

Fig. (X)
(1) / (@) :
(3) - (1)

Options :

92090660869. 1
92090660870. 2
92090660871. 3
92090660872. 4

Question Number : 18 Question Id : 92090615404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenitfy the correct water — image of the fig. (X)

Fig. (X)
(1) / (@) :
(3) - (1)

Options :

92090660869. 1
92090660870. 2
92090660871. 3
92090660872. 4

Question Number : 19 Question Id : 92090615405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain language, GRASP is codes as BMVNEK, which word could be coded as
CRANE?

(1) FUDQH (2) GVERI
(3) HWFSJ (4) BQZMD
Options :

92090660873. 1
92090660874. 2
92090660875. 3
92090660876. 4

Question Number : 19 Question Id : 92090615405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain language, GRASP is codes as BMVNEK, which word could be coded as
CRANE?

(1) FUDQH (2) GVERI
(3) HWFSJ (4) BQZMD
Options :

92090660873. 1
92090660874. 2
92090660875. 3
92090660876. 4

Question Number : 20 Question Id : 92090615406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indians ﬁ Leaders

Singers

Which region represents leaders who are neither singers nor Indians?

(1) 3 (2) 6
(3) 2 (4) 4
Options :

92090660877. 1
92090660878. 2
92090660879. 3
92090660880. 4

Question Number : 20 Question Id : 92090615406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indians n Leaders

Singers

Which region represents leaders who are neither singers nor Indians?

(1 3 (2) 6
(3) 2 (4 4
Options :

92090660877. 1
92090660878. 2
92090660879. 3
92090660880. 4

Question Number : 21 Question Id : 92090615407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has won the women's singles title of Odisha badminton tournament held in
Cuttack, Odisha in the year 20227

(1) Ashly Barty (2) Unnati Hooda
(3) P V Sindhu {(4) Saina Nehwal
Options :

92090660881. 1
92090660882. 2
92090660883. 3
92090660884. 4

Question Number : 21 Question Id : 92090615407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has won the women's singles title of Odisha badminton tournament held in
Cuttack, Odisha in the year 20227

(1) Ashly Barty (2) Unnati Hooda
(3) P V Sindhu {(4) Saina Nehwal



Options :

92090660881. 1
92090660882. 2
92090660883. 3
92090660884. 4

Question Number : 22 Question Id : 92090615408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pandit Shiv Kumar Sharma who passed away in May 2022 was a maestro of:

(1) Flute (2) BSantoor
(3) Tabla () Esrad
Options :

92090660885. 1
92090660886. 2
92090660887. 3
92090660888. 4

Question Number : 22 Question Id : 92090615408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pandit Shiv Kumar Sharma who passed away in May 2022 was a maestro of:

(1) Flute (2) BSantoor
(3) Tabla (4) Esrad
Options :

92090660885. 1
92090660886. 2
92090660887. 3
92090660888. 4

Question Number : 23 Question Id : 92090615409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Largest Gas pipe line in India is operated by which company?

(1) Relianece Petroleum (2) GAIL
(3) ONGC (4) Bharat Petroleum



Options :

92090660889. 1
92090660890. 2
92090660891. 3
92090660892. 4

Question Number : 23 Question Id : 92090615409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Largest Gas pipe line in India is operated by which company?

(1) Relianee Petroleum (2) GAIL
(3) ONGC {(4) Bharat Petroleum
Options :

92090660889. 1
92090660890. 2
92090660891. 3
92090660892. 4

Question Number : 24 Question Id : 92090615410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following can be recyeled 100%?

(1) Food waste (2) Glass bottles
(3) Alluminium ecans (4) Card board
Options :

92090660893. 1
92090660894. 2
92090660895. 3
92090660896. 4

Question Number : 24 Question Id : 92090615410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be recycled 100%?

(1) Food waste (2) Glass bottles
(3)  Alluminium cans (1) Card board
Options :

92090660893. 1
92090660894. 2
92090660895. 3
92090660896. 4

Question Number : 25 Question Id : 92090615411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : “The Restoration of life of Lok Sabha and State Assemblies to
Syear” is passed in the 52r Amendment of constitution of India

Statement II  :  99th Amendment of constitution of India provides for formation of
National Judicial Appointments Commission”.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement 1l is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :

92090660897. 1
92090660898. 2
92090660899. 3
92090660900. 4

Question Number : 25 Question Id : 92090615411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I ¢ “The Restoration of life of Lok Sabha and State Assemblies to
Syear” is passed in the 52 Amendment of constitution of India

Statement II  : 99t Amendment of constitution of India provides for formation of
National Judicial Appointments Commission”.

In the light of the above statements, choose the correct answer from the options given

below *

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement 11 are incorrect

(3) Statement I is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement 1l is correct

Options :

92090660897. 1
92090660898. 2
92090660899. 3
92090660900. 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Question Number : 26 Question Id : 92090615412 Question Type : MCQ Option Shuffling : No Is

Part B: Fine Arts

920906306
2

Online
Mandatory
67

67

300

Yes

0

1
920906495
Yes

null

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



“A River Carries its Past.” is an installation by which artist?

(1) Ved Nayar (2) N. Pushpamala
(3) Sheela Gowda (4) Vivan Sundaram
Options :

92090660901. 1
92090660902. 2
92090660903. 3
92090660904. 4

Question Number : 26 Question Id : 92090615412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U RaR Hi 329 gre Fgfafed 7 4 69 saeR &1 sareld 82

(1) dEIR (2) A YT
(3) S Tel @) faaF e
Options :

92090660901. 1
92090660902. 2
92090660903. 3
92090660904. 4

Question Number : 27 Question Id : 92090615413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sculpture “Anguished cries” by Amar Nath Sehgal is made with which material?

(1) Terracotta (2) Bronze
(3) Burnt wood (4) Stoneware
Options :

92090660905. 1
92090660906. 2
92090660907. 3
92090660908. 4

Question Number : 27 Question Id : 92090615413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SERATY HETd gRI &4T5 115 qfat “UFaws swrge e o 9 foe amaedt 9 &+t 82

(1) U ghisdl (2) H
(3) el g% adal (4) UER MS
Options :

92090660905. 1
92090660906. 2
92090660907. 3
92090660908. 4

Question Number : 28 Question Id : 92090615414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the medium of the sculpture “Pieta™

(1) Bronze (2) Marhble
(3)  Copper (1) Sandstone
Options :

92090660909. 1
92090660910. 2
92090660911. 3
92090660912. 4

Question Number : 28 Question Id : 92090615414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“fuer (Pieta)” AT® Wi &1 9 & | S 1 HIeqw g2

(1) @ (2) 3l (Hrda)
(3) dH (4) T YRR
Options :

92090660909. 1
92090660910. 2
92090660911. 3
92090660912. 4

Question Number : 29 Question Id : 92090615415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

“Anguished Cries” an artwork by Amar Nath Sehgal is presently housed in which
Gallery?

(1) National Gallery of modern Art, New Delhi
(2) National Gallery of modern Art, Bangalore
(3) Delhi Art Gallery, New Delhi

(4)  Lalit Kala Akademi, New Delhi.

Options :

92090660913. 1
92090660914. 2
92090660915. 3
92090660916. 4

Question Number : 29 Question Id : 92090615415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HARATY e &1 Halpid “UaRs Hrge adrH # [y oo el d 9@ €2

(1) i smyfae wen G, 7S Rt
(2) P yfes Har i, FTeR
3) e o el 7 R

(4)  ford S fepIGHI, 73 facd!

Options :

92090660913. 1
92090660914. 2
92090660915. 3
92090660916. 4

Question Number : 30 Question Id : 92090615416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lakshmana Temple in Khajuraho was built in which dynasty?

(1) Mauryan Dynasty (2) Pallava Dynasty
(3) Chandella Dynasty (4) Gupta Dynasty
Options :

92090660917. 1
92090660918. 2



92090660919. 3
92090660920. 4

Question Number : 30 Question Id : 92090615416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eoie! fRyd denul HigR g § 9 foew d=1 gRy a=aran an ur

(1) Hrdw (2) Ycad 99
(3) deddyw (4) I a9
Options :

92090660917. 1
92090660918. 2
92090660919. 3
92090660920. 4

Question Number : 31 Question Id : 92090615417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Stoneware is made of

(1) Glass (2) Clay
(3)  Plaster of Paris (POP) (1) Stone
Options :

92090660921. 1
92090660922. 2
92090660923. 3
92090660924. 4

Question Number : 31 Question Id : 92090615417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ry g A afeadasngr

(1) &g 2) fgl
(3) W 316 Uiy (POP) 4) TR
Options :

92090660921. 1
92090660922. 2



92090660923. 3
92090660924. 4

Question Number : 32 Question Id : 92090615418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Ravana Shaking mount Kailasha” is sculpted in which eave number at Ellora?

(1) Cave Number 15 (2) Cave number 2
(3) Cave Number 16 (4) Cave Number 12
Options :

92090660925. 1
92090660926. 2
92090660927. 3
92090660928. 4

Question Number : 32 Question Id : 92090615418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GU] ST Udd H fFard gu Hfd Tar & g 7 9 fvw 1 demn A 82

(1) TWIESAT15 (2) %I HEI 2
(3) TWIESAT 16 (4) T[T HWT 12
Options :

92090660925. 1
92090660926. 2
92090660927. 3
92090660928. 4

Question Number : 33 Question Id : 92090615419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following sculptor have used folk and tribal art techniques to great
creative advantage?

(1) B. C Sanyal (2) K.K. Hebbar
(3)  Amarnath Sehgal (4) K. G. Subramanyan
Options :

92090660929. 1



92090660930. 2
92090660931. 3
92090660932. 4

Question Number : 33 Question Id : 92090615419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 7 ¥ 59 gfder A oafie goas €9 § d@id 9 sfeardt &dl dob-id] o1 9an
faar 87

(1) &L S (2) &P geR
(3)  SHIAIY "I (4) &St gaHTg
Options :

92090660929. 1
92090660930. 2
92090660931. 3
92090660932. 4

Question Number : 34 Question Id : 92090615420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Yellow Sun Split Across woods” is a sculpture by:

(1)  Amar Nath Sehgal (2) Raghav Kaneria
(3) Balbir Singh Katt (4) Pradosh Das Gupta
Options :

92090660933. 1
92090660934. 2
92090660935. 3
92090660936. 4

Question Number : 34 Question Id : 92090615420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el A et Uty ggu” e A 9 fovg gfder @1 oid 87

(1)  HEAY HETd (2) rgd AR
3) dadRk Rig ®1e @) VSN S



Options :

92090660933. 1
92090660934. 2
92090660935. 3
92090660936. 4

Question Number : 35 Question Id : 92090615421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who was the Guiding Spirit behind in the making of Delhi shilpi Chakra?

(1) Ash Goverdhan (2) BSailoz Mukherjee
(3) B.C. Sanyal (4) Nandalal Bose
Options :

92090660937. 1
92090660938. 2
92090660939. 3
92090660940. 4

Question Number : 35 Question Id : 92090615421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fewel el =% & i & die B & 9 fewe arfee@ an

(1) UAEd ) Qo gl
3) oL " (4) T<dd 9™
Options :

92090660937. 1
92090660938. 2
92090660939. 3
92090660940. 4

Question Number : 36 Question Id : 92090615422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“Twelve Views of Caleutta” are etchings by which artist?

(1) N. Daniell (2) William Daniell
(3)  Thomas Daniell (4) Daniel Brothers
Options :

92090660941. 1
92090660942. 2
92090660943. 3
92090660944. 4

Question Number : 36 Question Id : 92090615422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e O 9 59 FAPR 7 “¢od o 36 dader &1 &R @fi) o g2

(1) uSFga (2) Tafem SFaa
(3) My efFad (4) SFTd sy
Options :

92090660941. 1
92090660942. 2
92090660943. 3
92090660944. 4

Question Number : 37 Question Id : 92090615423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jagmohan Chopra’s “The live — wire of Delhi’s graphic world,” was greatly inspired
by which artist?

(1) Haren Das (2) Paramjeet Singh
(3) Somnath Hore (4 Kanwal Krishna
Options :

92090660945. 1
92090660946. 2
92090660947. 3
92090660948. 4

Question Number : 37 Question Id : 92090615423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

SR AU St Pid < dgd IR % fAeeh Aifths aes” g ¥ ¥ fry ardR grI
Ofed i

(1) BECN (2) Wi fHg
(3) HHAYER (@) Had P
Options :

92090660945. 1
92090660946. 2
92090660947. 3
92090660948. 4

Question Number : 38 Question Id : 92090615424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Indian “Print — Makers Guild” in 1990 was formed at which place in Delhi?

(1) Jaipur House, New Delhi

(2) Rabindra Bhavan, New Delhi

(3) Bikaner House, New Delhi

(4) Lalit Kala Akademi, Garhi Studio, New Delhi
Options :
92090660949. 1
92090660950. 2

92090660951. 3
92090660952. 4

Question Number : 38 Question Id : 92090615424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR “fife Ay feg” &1 RgAT 1990 H feel! H fog = | g3 ot

(1) SR ERIY, 73 faeet

(2) & HE, 7S R

3) dIPER B39, T3 el

(4)  aferd sar srebreH!, 1 LA, 7% e

Options :



92090660949. 1
92090660950. 2
92090660951. 3
92090660952. 4

Question Number : 39 Question Id : 92090615425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“A Woman Sitting & men standing” 15 a painting by which artist?

(1)  Arpita Singh (2) Arpana Caur
(3) Gulam Mohammad Sheikh (4) A. Ramachandran.
Options :

92090660953. 1
92090660954. 2
92090660955. 3
92090660956. 4

Question Number : 39 Question Id : 92090615425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP J31 Tl SR e gy oz g # 9 f6a saredR A 59 r 82

()  siftfar Rig @) SHuT®HR
(3) T HgWE I (4) T IHTSA
Options :

92090660953. 1
92090660954. 2
92090660955. 3
92090660956. 4

Question Number : 40 Question Id : 92090615426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Cloud Gate” is a publie sculpture made by.

(1) Nandalal Bose (2) Anish Kapoor
(3)  Subodh Gupta (4) Jatin Das



Options :

92090660957. 1
92090660958. 2
92090660959. 3
92090660960. 4

Question Number : 40 Question Id : 92090615426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

rde® Hfd “AagR” B g 7 9 fvd gider 3 s=m g2

(1) F<ad & ) SHTHER
(3) ey I (4) Sfdq 3™
Options :

92090660957. 1
92090660958. 2
92090660959. 3
92090660960. 4

Question Number : 41 Question Id : 92090615427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is the founder member of “Kochi Biennale™?

(1) Atul Dodiya (2) Bose Krishnamachari
(3) Subodh Gupta (4) Sunil Gawde
Options :

92090660961. 1
92090660962. 2
92090660963. 3
92090660964. 4

Question Number : 41 Question Id : 92090615427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g & 4 FF wifs ffaftfa &1 dws gem 82

(1)  3fda sifsan ) Y FUMHRR
(3) ey T @) g mas
Options :

92090660961. 1
92090660962. 2
92090660963. 3
92090660964. 4

Question Number : 42 Question Id : 92090615428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gustave Courbet was associated with which art movement?

(1) Surrealism (2) Cubism
(3 Realism (4) Futurism
Options :

92090660965. 1
92090660966. 2
92090660967. 3
92090660968. 4

Question Number : 42 Question Id : 92090615428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TITd Dlde 9 # 9 fod oar sigiad 9 Hdfta 42

(1) sffagurdar 2) 94
3) guiare 4) Tfa AEguER
Options :

92090660965. 1
92090660966. 2
92090660967. 3
92090660968. 4

Question Number : 43 Question Id : 92090615429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Satyajit Ray's documentary film “The Inner Eye” depicts life of which artist?

(1) Satish Gujaral (2) Abanindranath Tagore
(3) Benod Behari Mukherjee (4) Rabindranath Tagore
Options :

92090660969. 1
92090660970. 2
92090660971. 3
92090660972. 4

Question Number : 43 Question Id : 92090615429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tgoitd X & agfed g 3R s # A1 1 ¥ [ FaraR & Siad &1 UeRid fdar i g2

(1) ¥ eRd @) SfEF=EY TR
3) foig fagr gasit @) A=Ay TR
Options :

92090660969. 1
92090660970. 2
92090660971. 3
92090660972. 4

Question Number : 44 Question Id : 92090615430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which artist had created many paintings on theme of Dance and Opera?

(1) Eduvard Manet (2) Edgar Degas
(3)  Van Gogh (1) John Constable
Options :

92090660973. 1
92090660974. 2
92090660975. 3
92090660976. 4

Question Number : 44 Question Id : 92090615430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

g A ¥ fhg wedR A T 9 dritfae (310 & favgesg W sFs Rt ot == &t dh

(1) U3ds He (2) USTR H
(3)  AF T @) WM Hiedd
Options :

92090660973. 1
92090660974. 2
92090660975. 3
92090660976. 4

Question Number : 45 Question Id : 92090615431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these following museum is located in Kolkata?

(1) National Museum (2) Bharat Bhawan
(3) Salar Jung Museum (4) Viectoria Memorial
Options :

92090660977. 1
92090660978. 2
92090660979. 3
92090660980. 4

Question Number : 45 Question Id : 92090615431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Foferfaa 9§ 9 & 91 YUgay Sidasrd | aiyd 82

(1) P g™ 2) HRd HaA
(3) HIEAR S dYele™ 4) faecifa quifaa
Options :

92090660977. 1
92090660978. 2
92090660979. 3
92090660980. 4



Question Number : 46 Question Id : 92090615432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“The Passing of Shah Jahan” i1s a famous painting of

(1) Abul Hasan (2) Gaganendranath Tagore
(3)  Abanindranath Tagore () G.M. Sheikh
Options :

92090660981. 1
92090660982. 2
92090660983. 3
92090660984. 4

Question Number : 46 Question Id : 92090615432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"ggSTel &1 ToR o1 (49 1 4 feae! ufte $ia 82

(1)  gd gad (2) =AY SR
(3) Y TR (4) SIUA 99
Options :

92090660981. 1
92090660982. 2
92090660983. 3
92090660984. 4

Question Number : 47 Question Id : 92090615433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the present Chairman of Lait Kala Akademi?

(1) Jatin Das (2) K.S. Kilkarni
(3)  Pran Nath Mago (4) V. Nagdas
Options :

92090660985. 1
92090660986. 2
92090660987. 3
92090660988. 4



Question Number : 47 Question Id : 92090615433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 o @ feid S fHTgH &1 addH e i 87

(1)  ofdA g™ (2) SUH paDUl
(3)  WIOMETY A @) dt aren
Options :

92090660985. 1
92090660986. 2
92090660987. 3
92090660988. 4

Question Number : 48 Question Id : 92090615434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the sculptor of “The Thinker™?

(1) Leonardo da Vinei (2) Auguste Rodin
(3)  Paul Gauguin (4) Auguste Renoir
Options :

92090660989. 1
92090660990. 2
92090660991. 3
92090660992. 4

Question Number : 48 Question Id : 92090615434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g i@ &1 iR I 87

(1) foeiFel g f&=h (2) ST s
(3) Ul g (4) 3R FR
Options :

92090660989. 1
92090660990. 2
92090660991. 3



92090660992. 4

Question Number : 49 Question Id : 92090615435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The “Monalisa™ painting is known in the world for its:

(1) Amazing Background (2) Mysterious Smile
(3) Artistic Jewellery (49 Beautiful Hairstyle
Options :

92090660993. 1
92090660994. 2
92090660995. 3
92090660996. 4

Question Number : 49 Question Id : 92090615435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“HiTierT UfeT &t g ok | 39! iy fafkmyar & fere i wiran 2

(1) Sgyd gsHA (2) e g
(3) HAHD AT @) Yo $u faumy
Options :

92090660993. 1
92090660994. 2
92090660995. 3
92090660996. 4

Question Number : 50 Question Id : 92090615436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following is a diseiple of Verroechio?

(1) Pablo Picasso (2) Rembrandt
(3 Leonardo da Vinei (1) Michelangelo
Options :

92090660997. 1
92090660998. 2



92090660999. 3
92090661000. 4

Question Number : 50 Question Id : 92090615436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofeafaa § 9 & Jufsh & s g2

(1) Ul o ) Wi

3) faeiFmel g &= (4) WD ol
Options :

92090660997. 1
92090660998. 2
92090660999. 3
92090661000. 4

Question Number : 51 Question Id : 92090615437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“Olympia” is painted by

(1) Claude Monet (2) Edouard Manet
(3) Paul Cezanne (4) Paul Gauguin
Options :

92090661001. 1
92090661002. 2
92090661003. 3
92090661004. 4

Question Number : 51 Question Id : 92090615437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

« et foF Ay # 9 fud s &2

(1) o8 HAe (2) Ugds HMC
(3) UldIq9H (4) UTd TREA
Options :

92090661001. 1



92090661002. 2
92090661003. 3
92090661004. 4

Question Number : 52 Question Id : 92090615438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“City in the Night” painting was made by

(1) .M. Sheikh (2) Abanindranath Tagore
(3) Gaganendranath Tagore (1) Bhupen Khakhar
Options :

92090661005. 1
92090661006. 2
92090661007. 3
92090661008. 4

Question Number : 52 Question Id : 92090615438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 7 2ex Ui g 7 4 fopem srs i

(1) oiiud 9 ) SEF=SIY R
3)  TRAEAY TR 4) YU FIHS
Options :

92090661005. 1
92090661006. 2
92090661007. 3
92090661008. 4

Question Number : 53 Question Id : 92090615439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The “Last Supper” 15 a

(1) Sculpture (2) Graphic Print
(3) Mural (4) Poster



Options :

92090661009. 1
92090661010. 2
92090661011. 3
92090661012. 4

Question Number : 53 Question Id : 92090615439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g Ry A e g?

(m " @2 @BmrfEE
3) MWRifa @) UReR
Options :

92090661009. 1
92090661010. 2
92090661011. 3
92090661012. 4

Question Number : 54 Question Id : 92090615440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shanti Dave uses encaustic as a medium in his paintings. Encaustic is a mixture of:

(1) Ink, Tempera, Lead and Varnish
(2) Bees wax, Linseed oil, Varnish and Zine oxide
(3) Copper wax, Linseed o1l and Enamel

(4) Enamel, Charcoal, Acrylic and Tempera

Options :

92090661013. 1
92090661014. 2
92090661015. 3
92090661016. 4

Question Number : 54 Question Id : 92090615440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



viifa ga 31q4 i & Ryguauies &1 Arew & U § U & § | guanis B9 J 9§ fea-
g &1 |y g2

(1) I8l HPTEieRS ad, S ai-
@ Aydadie A, FRite dd, g 9 e sramss
(3) df&r AW, fadis dd g HF1 (TEEe)
(4)  HFI (TAH), HIEH g, Tfehiere g seprieRS AU

Options :

92090661013. 1
92090661014. 2
92090661015. 3
92090661016. 4

Question Number : 55 Question Id : 92090615441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following doesn’t fall under the category of “Intaglio Printmaking”™?

(1) Dry point (2) Mezzotint
(3)  Lithography (4) A quatint
Options :

92090661017 1
92090661018. 2
92090661019. 3
92090661020. 4

Question Number : 55 Question Id : 92090615441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa 7 9 31 Is vl aurs & 94oft & 3refi= =7l e g2

(1) b fdg (318 W) (2) Hefe=
3) Tramgo 4) Ugalde
Options :

92090661017. 1
92090661018. 2
92090661019. 3



92090661020. 4

Sub-Section Number : 2
Sub-Section Id : 920906496
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 92090615442 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)
Question Label : Comprehension

Observe the sculpture and answer the following question:

Sub questions

Question Number : 56 Question Id : 92090615443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the title of this Sculpture?

(1) Vanshri (woman and the tree) (2) Woman on Peacock
(3)  Basanti (She of Spring) (49) Rudra (Deity of Terror)
Options :

92090661021. 1



92090661022. 2
92090661023. 3
92090661024. 4

Question Number : 57 Question Id : 92090615444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who Sculpted this artwork?

(1) Meera Mukherjee (2) Arpita Singh
(3)  Mrinalini Mukherjee (4) Arpana Caur
Options :

92090661025. 1
92090661026. 2
92090661027. 3
92090661028. 4

Question Number : 58 Question Id : 92090615445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the time period of this sculpture?

(1) 1985 (2) 1989
(3) 1995 (49 1991
Options :

92090661029. 1
92090661030. 2
92090661031. 3
92090661032. 4

Question Number : 59 Question Id : 92090615446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the medium of this sculpture?

(1) Hemp and cotton (2) Fiber
(3 Ceramic (4) Carpet brushes and fiber

Options :



92090661033. 1
92090661034. 2
92090661035. 3
92090661036. 4

Question Number : 60 Question Id : 92090615447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Where is this sculpture located?

(1) Foundation of contemporary Art, Reunion Island.
(2) Vadehra Art Gallery, New Delhi.

(3 Mrinalini Mukherjee foundation.

(4) Collection of Lis and Leif Faurholt.

Options :

92090661037. 1
92090661038. 2
92090661039. 3
92090661040. 4

Question Id : 92090615442 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)
Question Label : Comprehension



el &1 Sfadid Hifod g UY 31-35 b IaR oiforg :

Sub questions

Question Number : 56 Question Id : 92090615443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el & i@ &1 ygaH Pifod|

(1) 991 (% iR g8) 2) HR W Wl

(3)  wHdl (Sd B a8 (%) (4) g (3MTdE BT adI)
Options :

92090661021. 1
92090661022. 2
92090661023. 3
92090661024. 4

Question Number : 57 Question Id : 92090615444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s Ofd 3l Ry R ®H 82

(1) o gl 2) ffdar fig
(3)  gonfer qEsi (4) UUT HR
Options :

92090661025. 1
92090661026. 2
92090661027. 3
92090661028. 4

Question Number : 58 Question Id : 92090615445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Hfd fu grgEfy $1 82

(M 1985 (2) 1989

(3) 1995 (4) 1991
Options :

92090661029. 1
92090661030. 2
92090661031. 3
92090661032. 4

Question Number : 59 Question Id : 92090615446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 qfcl &1 HIed S |1 82

(1) FIIE @) =

3) Hiad (4) e qierdT W
Options :

92090661033. 1
92090661034. 2
92090661035. 3
92090661036. 4

Question Number : 60 Question Id : 92090615447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gg Hid gl W safeyd g2
(1) IESYA 3T el e, Jgad g
(2) e e fadl, 7S feddt

(3) U TEl BT
(4) S AF O TS T3F BiRglee

Options :

92090661037. 1
92090661038. 2
92090661039. 3
92090661040. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

3
920906497
No

null

Question Id : 92090615448 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)
Question Label : Comprehension

Observe the image and answer the following questions:

Sub questions

Question Number : 61 Question Id : 92090615449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Identify the title of this image:

(1) The old man (2) The old woman
(3) The old Guitarist () The old Guitar
Options :

92090661041. 1
92090661042. 2
92090661043. 3
92090661044. 4

Question Number : 62 Question Id : 92090615450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the artist of this artwork:

(1) Henri Matisse (2) Van Gogh
(3)  Pablo Picasso (4) Marcel Duchamp
Options :

92090661045. 1
92090661046. 2
92090661047. 3
92090661048. 4

Question Number : 63 Question Id : 92090615451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the year in which this artwork was made:

(1) 1903 - 1904 (2) 1900 - 1901
(3) 1904 - 1906 (4) 1906 - 1910
Options :

92090661049. 1
92090661050. 2
92090661051. 3
92090661052. 4

Question Number : 64 Question Id : 92090615452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Identify the medium in which this artwork was made

(1) (il on paper (2) Acrylic on canvas
(3) (1l on panel (4) Watercolor on paper
Options :

92090661053. 1
92090661054. 2
92090661055. 3
92090661056. 4

Question Number : 65 Question Id : 92090615453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Where is this artwork located?

(1) The Andy Wahrol Foundation
(2)  Art Institute of Chicago
(3)  Foundation of Contemporary Art, Chicago

(4) The metropolitan Museum of Art, London

Options :

92090661057. 1
92090661058. 2
92090661059. 3
92090661060. 4

Question Id : 92090615448 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)
Question Label : Comprehension



B B AAIHT DT d UY 36-40 P I aifoll ;

Sub questions

Question Number : 61 Question Id : 92090615449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 Bfd & Yiie &1 ggaH Difo -

(1) Tl ) T 3iies giA
3) @3N Mol @) g afies fier
Options :

92090661041. 1
92090661042 2
92090661043. 3
92090661044. 4

Question Number : 62 Question Id : 92090615450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 FdlPid $ HalPR Bl TgdI0 -

(1) &R oy 2) G
(3)  Ursal fuaTt @) WRdgga™
Options :

92090661045. 1
92090661046. 2
92090661047 3
92090661048. 4



Question Number : 63 Question Id : 92090615451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9§ ¥ 39 Farpid i SraEfe $1 ugaH Hifo -

(M 1903 - 1904 (2) 1900 - 1901
(3) 1904 - 1906 (4) 1906 - 1910
Options :

92090661049. 1
92090661050. 2
92090661051. 3
92090661052. 4

Question Number : 64 Question Id : 92090615452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
79 7 @ 39 AreH &1 UgdH Sifeig forad 338 &= mm o -

(1) SN WA (2) S99 R Ufhiis
3) UReHhI WA (4) BT TR e
Options :

92090661053. 1
92090661054. 2
92090661055. 3
92090661056. 4

Question Number : 65 Question Id : 92090615453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UE HAPTa Y 7§ el R 3afud &2

(1) & U3 aedd BIdeeH

2)  ofE SReee e Rern

(3) BIISYF 3 B e, R

(4) & Acmified gy & offd, e
Options :

92090661057. 1
92090661058. 2



92090661059. 3
92090661060. 4

Sub-Section Number : 4
Sub-Section Id : 920906498
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 92090615454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One is labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) : The study of images of deities falls within a branch of art history
called Iconography.

Reasons (R) : It consists of identification of images based on certain symbols and
mythologies associated with them.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 18 not correct but (R) is correct

Options :

92090661061. 1
92090661062. 2
92090661063. 3
92090661064. 4

Question Number : 66 Question Id : 92090615454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9119 1 Fu AU T §: TP SHHBYUA (Assertion A) F ¥ ¥ fiifad 8 o g1 39S HRUI
{(Reason R) & ¥ ff,'

AMPYT A - < ufaarefi &1 siergd Sal sfderd & ufaHiide AW IrE & 8-
AT B

HRUIR : =01 IY Heferd Swidug udis! 9 My & smur 92 ufamis &1 ggaH
S A §

SR HYF & 3fTared H, 1 iU 7 fabadi # 9 968 Iugad IR &1 984 IS

(1) A SRR § IR R A P 8l AR &
(2) A S3RREH T8l €, AP R, A B el AR &l &
3) AGElE AfFAIREE TS E
4) AT TEIE APARETE T
Options :
92090661061 1
92090661062, 2

92090661063. 3
92090661064. 4

Question Number : 67 Question Id : 92090615455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R).
Assertion (A) : The paintings from the medieval period was called as miniature
painting.
Reasons (R) :  Because these paintings were smaller in size.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 15 not correct but (R) is correct

Options :



92090661065. 1
92090661066. 2
92090661067. 3
92090661068. 4

Question Number : 67 Question Id : 92090615455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 g1 YA AU U § U HUSYA (Assertion A) B ®U T fafEd § O U0 3D HRU
(Reason m%m{ fi;

HHBYA A . AEST S B B agfm @R diéw) wg1 s ol
PHRUR: ifes I o 3R H |1 gid U
IR HYA & 3flciie H, A1 fGU 7 fabedi § ¥ 9a8 Iugdd IR &1 99 Siforg

(1) ASRRIAIHE § 3R R, A DI I3 ARS8

(2) A SRR Hg! 8, Al R, A B Hel A el &
3) AUEE AFTRAA TR

(4) ATGTEE, APTRIE

Options :

92090661065. 1
92090661066. 2
92090661067. 3
92090661068. 4

Question Number : 68 Question Id : 92090615456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  “The Blue Guitar” is a famous artwork of Picasso.

Reasons (R): The Blue period of Picasso is identified by the flat expanses of
blues, greys and blacks.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct
Options :
92090661069. 1
92090661070. 2

92090661071. 3
92090661072. 4

Question Number : 68 Question Id : 92090615456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

12 €1 $Y U MU §: UF SHHBYA (Assertion A) F FU ¥ fiifad @ O N1 39S HRUI
(Reason R}a‘TF‘I ﬁ,‘

HUFYAA ;& o FIeR” USRI & U Uig dardid g

FRUIR : S & & HTd $ UgdH Ald, YR d HTd T & THIA [d8IR 9 &l
EIcIE]

JUIH HYF & 3fTdre H, 1 fou M fadedi # ¥ 998 Iugdd IR &1 994 ifee
(1)  ASRRTATTE € SRR A P TSl ARS8

2) A SRR TEl g, dfd R, A 1 Hel carsd 78l 8

3) AUEE AfPARTG AL E

(4 AWETEIE AFTREEE

Options :
92090661069. 1



92090661070. 2
92090661071. 3
92090661072. 4

Question Number : 69 Question Id : 92090615457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Gaganendranath Tagore set up his own press and published an
album of his caricatures.

Reasons (R): Because he was interested in engraving printing technique.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) i1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 15 not correct but (R) is correct

Options :

92090661073. 1
92090661074. 2
92090661075. 3
92090661076. 4

Question Number : 69 Question Id : 92090615457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 31 YA AU T § U HUSYA (Assertion A) F €U T fafEd g df g9 IS BRUI
(Reason R}%‘FW H:

AMFYFT A :  THHSATY SR 7 U1 T4 &1 SURGHT (UH) TS SR 394 faey-femf &t
U UcaH UahIfrd &1 4t

BRUIR : i I I U REER] da-ite 1 B 4
JUIE HYA & 3fieie H, A fou 7 fabedi # 9 9998 Iugad IR &1 994 Sifee

(1)  ASRRIATHE € IR R A P Udl RS 8

(2) A 3R REH T8l €, Afb R, A F el ST el &
(3) AUEE AfFIRUS Tl

4) AGETENE ABTRUET

Options :

92090661073. 1
92090661074. 2
92090661075. 3
92090661076. 4

Question Number : 70 Question Id : 92090615458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).
Assertion (A) : The artist Nanda Gopal used techniques of welding, silvering and
colouring of sculptural forms.
Reasons (R) :  Because he was inspired from tribal sculptures.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) is not correct but (R) is correct

Options :
92090661077. 1



92090661078. 2
92090661079. 3
92090661080. 4

Question Number : 70 Question Id : 92090615458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 €1 $yA fU U § U SHHBHUA (Assertion A) F FU T fafdd 8§ @ T 30 HRUI
(Reason R}%F‘J ﬁ;

UBYT A : BABR oG - HfdRIT Ui $i des v, Fidl TeM1 d TH B ddid!
1 TanT fobar Ui

HRUR: ifd q srfeardt gfdiRey 3 uftd 21
JUIad YA & e H, g feu 710 fawedi § 9 "gt 30 &1 994 Sl

(1) AR RS TE § IR R, A B TSI AR §

(2) ASMRRIHHel g, bR, A D1 U A= 81 ©
(3) AWEIE APTIREG TR

(4) ATGSITEIE APTRELEI B

Options :

92090661077. 1
92090661078. 2
92090661079. 3
92090661080. 4

Question Number : 71 Question Id : 92090615459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  Satish Gujral fused the Indian and Mexican traditions to create a
spectacular aesthetic effect.

Reasons (R): Because he wanted to express the sorrow and misery of partition in
his paintings.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) 1s not correct but (R) is correct

Options :

92090661081. 1
92090661082. 2
92090661083. 3
92090661084. 4

Question Number : 71 Question Id : 92090615459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

41 &1 oy QU U §: U@ Sifi@dY (Assertion A) & U H folEad § df g0 I9F BRU
(Reason R}la?m ﬁ,‘

AMPYT A : T ORI 7 YR 9 At g3uRiei &1 iy & sieyd diedRe
T1-yHe IF

PHRUIR it gt feFgdan & fAueA & §:9-30al & ad Sl 9igd Ul
JWRIH FYF & 3MTered |, A= U M0 fAhedt # 4 98! 3T &1 =909 Sifow

(1) ASRREH TSI IR AP G&l TRAT &

(2) A 3R RGH T8l 8, AP R, A ] Ue! RS el &
3) AWHE AFTRAS TR

(4) AWTIE APTREGT

Options :



92090661081. 1
92090661082. 2
92090661083. 3
92090661084. 4

Question Number : 72 Question Id : 92090615460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  Brunelleschi was credited for the invention of linear perspective in
Italy.

Reasons (R): Because in Gothic period painting was considered less than
sculpture and architecture.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) is not correct

(4) (A) 18 not correct but (R) is correct

Options :

92090661085. 1
92090661086. 2
92090661087. 3
92090661088. 4

Question Number : 72 Question Id : 92090615460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i g FyA iU U & U SifU@HYA (Assertion A) & Y H fRed g f TR ITF HRUI
(Reason R}a'TF'I ﬁ;

HHPYTA :  Fodl § WY uRNey & SfaehR &1 9 gceied &I Sl g

PRUR: Fifds Mis B & RS D1 Gfddd I ARGURE B U FHAR A
EIGIE

I HYA & Sfidid |, i feu 71 fawedi § 9 el I &1 994 $ifow

(1) ASRRIAIHE § ARR, A DI IS A&

(2) A SR REHI TEl € dfF R, A P Uel RS 781 &
(3) AU AfbaR UG Tl

(4) AUETRIE APTRELE

Options :

92090661085. 1
92090661086. 2
92090661087. 3
92090661088. 4

Question Number : 73 Question Id : 92090615461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct chronological order of following institutes of their ereation.

(A) College of Art, New Delhi

(B) Madras School of Arts & Crafts, Chennai

(C) Government College of Arts & Crafts, Kolkata
(D) SirJ.J. School of Art, Mumbai

(E) Kala Bhavan, Santiniketan

Choose the correct answer from the options given below :

(1) B,DECA
2 BACED
3 B,CDEA
4 BCEDA
Options :
92090661089. 1

92090661090. 2
92090661091. 3



92090661092. 4

Question Number : 73 Question Id : 92090615461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FaffEd dwimsi &1 T & STasa-aR el 3w AT -
A BIOS SHTH 31, T3 el

B. WaM Wpd 31 31EY US HIUey, 975

C. Ta-He PIolel 3 1Y US HIHH, BIerbIdl

D. WG WD 3Hh AIE, Hag

E. &l Y, MifaFddad

i feu v faeedi § 9§ 9t I &1 994 Hiferd :

() BDECA
20 BACED
3) BCDEA
@4 BCEDA

Options :

92090661089. 1
92090661090. 2
92090661091. 3
92090661092. 4

Question Number : 74 Question Id : 92090615462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the chronological order of the following art movements:

(A) Neo classical At
(B) Renaissance

(C) Mannerism

(D) Baroque

(E) Rocoeo

Choose the correct answer from the options given below :

(1) ACDEB
(2) B,C,D,E A
3) ABDEC
4 ADERBC
Options :
92090661093. 1
92090661094. 2

92090661095. 3
92090661096. 4

Question Number : 74 Question Id : 92090615462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad sigieAl & 98l HIabHITIR gdied Hiferg |
A, Td FAIYHY Hell

B. UAGINRUI
C. wEmdrH
D. WP

E. dlDl

4 feu T faredl & 9§ 9el IR &1 994 DIl ;

(M ACDEB
2 BCDEA
3) ABDEC
4 ADEBC

Options :



92090661093. 1
92090661094. 2
92090661095. 3
92090661096. 4

Question Number : 75 Question Id : 92090615463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct chronology of groups formed by Indian painters:

(A)  Delhi Shilpi Chakra

(B) Group 1890

(C)  Young Turks

(D) PAG

(E) Cholamandal Artists Village

Choose the correct answer from the options given below :

(1) B,C,DAE
2 ABDE/C
3 CADERB
4 C,D,ABE

Options :

92090661097. 1
92090661098. 2
92090661099. 3
92090661100. 4

Question Number : 75 Question Id : 92090615463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR fE@RI & FY 9HEl & 69 & STAsHER 3961 96! 3HH gfau
A et Rredt o

B. 74 1890
C. dTHY
D. Wuwl

E. daHsd ofcH faas
4 fau v faseai & 9 Tl IR &1 I SIS

(1) BCDAE
2) ABDEC
3) CADEB

4 CDABE
Options :
92090661097. 1
92090661098. 2
92090661099. 3
92090661100. 4

Question Number : 76 Question Id : 92090615464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct sequence of Van Gogh's painting chronological order:

(A) The Bedroom

(B) The Potato Eaters

(C) The Courtesan

(D) Fourteen Sunflowers in a Vase
(E) Starry Night

Choose the correct answer from the options given below :

() A D,EBC
(2 B,C,D,AE
(3 AB,C,DE
(49 EB,ACD

Options :



92090661101. 1
92090661102. 2
92090661103. 3
92090661104. 4

Question Number : 76 Question Id : 92090615464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 M @1 Fafafad 9fe & 98t o sH &1 HIaBHR AT

A, CdSEH

B. guURAFH

C. THeHHA

D. WICH T IUIaY 39 T aM™
£, ®RIART

1 feu T fasedi & 9 98l IR &1 994 DifolL ;

(1) ADEBC
(2) BCDAE
(3) ABCDE
(4) EBACD

Options :

92090661101. 1
92090661102. 2
92090661103. 3
92090661104. 4

Question Number : 77 Question Id : 92090615465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct chronological sequence of Artists:

(A) Binode Behari Mukherjee
(B Sailoz Mukherjee

(Cy B.C. Sanyal

(D) N.S. Bendre

() K.K. Hebbar

Choose the correct answer from the options given below :

(1) AB,DEC
& ABCDE
(3 C,ABDE
(4 DEABE

Options :

92090661105. 1
92090661106. 2
92090661107. 3
92090661108. 4

Question Number : 77 Question Id : 92090615465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad saeRl & 98 SasHe HIHH B AT

A, foeg fagrt gasit
B. s Hwl

c. =4I|

D. TIggaw

E. &F R

1= fau U fawedi § 9 98l I &1 944 Hifelt :

() ABDEC
) ABCDE
3) CABDE
4 DEABE

Options :



92090661105. 1
92090661106. 2
92090661107. 3
92090661108. 4

Question Number : 78 Question Id : 92090615466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct sequence of steps in woodeut printing?

(A) Drawing on wood block
(B) Impression on paper
(C) Carving

(D)  Rolling ink on block
(E) Rubbing with spoon

Choose the correct answer from the options given below :

() EBDCA
2 ADCBE
@ ACDERB
4 BCDERB

Options :

920906611009. 1
92090661110. 2
92090661111. 3
92090661112. 4

Question Number : 78 Question Id : 92090615466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1Y =01 & HeHl & UL S B gAU -

A. Y sl T ARG

B. ®F IR B

C. b

D. wiid W deeH |IEl

E O () | 9]

1< 13 7Y faeedi # 9 Wel IR &1 994 Fifo :

(1) EBDCA
2 ADCBE
3) ACDEB
4 BCDEB

Options :

920906611009. 1
92090661110. 2
92090661111. 3
92090661112. 4

Question Number : 79 Question Id : 92090615467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct chronology of paintings by the year of 1ts creation:

(A) Krishna supporting mount Goverdhan, Bikaner
(B) The Girl and the Parrot, Tutinama

(C) Pact in Garden, Muhammad Ali, Goleonda

(D) Rama and Sita in the forest, Kangra

(E) Abhisarika Nayika, Kangra

Choose the correct answer from the options given below :

(1) ABCDE
2 B,CADE
3 BACDE
(49 B,C,DAE

Options :
92090661113. 1



92090661114. 2
92090661115. 3
92090661116. 4

Question Number : 79 Question Id : 92090615467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad el @t T &1 @A S 9d & AR Id Ul DI SHHH Bl g ;
A.  TaeH udd &1 I81U gU W1, iR

B. TSI SR aldl : il

C. JUH ¥ $fd, Jg™Ig 3rcll, Madhiel

D. W 3R a1 a9 §, HiTs]

E. e A1), ShrsT

i< g 1Y faepeul H 9 Tel IR &1 994 SISy :

(1) ABCDE

(2) BCADE

(3) BACDE
(4) BCDAE

Options :

92090661113. 1
92090661114. 2
92090661115. 3
92090661116. 4

Question Number : 80 Question Id : 92090615468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ : “David” is a popular sculpture created by the true Renaissance
artist Leonardo da Vinci.

Statement II  : The sculpture is in the collection of Art Institute of Chicago

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement 1l are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options :
92090661117. 1
92090661118. 2

92090661119. 3
92090661120. 4

Question Number : 80 Question Id : 92090615468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dA A Py U MU E:

BY | ;IS TR TR FaER R 2 faed gr1 & 7 U e g 21
HUF |l - g Hfd 3TE SReee 1% Ridr & Tg A 8|

IR HYF & el H, A 30 70 faeedl 7 8 98l I &1 9094 Sifon

(1)  SYFISR AT IAE

2) YA R 1S T B

(3) HYTIUA T, dihd HYF 1l A

(4) FYTI AT §, AFI PUT I TI 8

Options :

92090661117. 1
92090661118. 2
92090661119. 3
92090661120. 4



Question Number : 81 Question Id : 92090615469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements -

Statement I : Oleograph is a form of Intaglio printing.

Statement II  : Raja Ravi Varma is known for his oleograps of popular epies like
Ramayana and Mahabharata.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement 1 is correct
Options :
92090661121. 1
92090661122.2

92090661123. 3
92090661124. 4

Question Number : 81 Question Id : 92090615469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T APy RT M E:
e | : QTR Jafm Iapit Sut &1 Us U B

HYF | - IS I gHT I G HEIHRD SR AIG g HeTdiedl & U HGd qarddl &
fore fa=a €1

IR HYA & 3Mdle |, 1= fau v faeadi 1 9 9l 39 &1 994 $ifeu

(1) YIRS TI 8

2 PHYTISRISH A g

(3) Y| U g, Al HYA Il 3 &
(4) Y| ATG g, Wl HUA || T &

Options :



92090661121. 1
92090661122. 2
92090661123. 3
92090661124. 4

Question Number : 82 Question Id : 92090615470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  Husain’s work show the complexity of the interaction between
art, everyday life and imagination.

Statement 11 :  His synchronisation of aesthetic ideas with significant events in
life is remarkable.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement [ and Statement 1l are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement 1 is false
(4) Statement [ is false but Statement Il is true

Options :

92090661125. 1
92090661126. 2
92090661127. 3
92090661128. 4

Question Number : 82 Question Id : 92090615470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRIFFE RS
HY | ;. GO DI DAl Bl &P Siia d Hed-TRIad & aid DI 3fd: fhar B wfeaar

@I gl g

HY || ; ity f[qaRi &1 sfia o ueaquf geisi & QY 361 HEeH Icwa-1d ¢l
SR Y= & 3fTeid |, i 3w 1 fawed! d 9 W8l IR &1 994 Difee

(1)
(2)
(3)
(4)

YT AR NI T8

HYF | 3R 11 ST 3T §

HYF | T g, Al Y 1l 3T &
HY | 3T §, Wb HUF 11 TA B

Options :

92090661125. 1
92090661126. 2
92090661127. 3
92090661128. 4

Question Number : 83 Question Id : 92090615471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  The prehistoric period in the early development of human beings

is known as Mesolithic period.

Statement 11 :  The painting of Mesolithic period are linear representations of

human figures.

In the light of the above statements, choose the correct answer from the options

given below :

(1)
(2)
(3)
(4)

Both Statement | and Statement Il are true
Both Statement I and Statement I are false
Statement [ is true but Statement 11 is false

Statement [ is false but Statement I is true

Options :

92090661129. 1
92090661130. 2
92090661131. 3



92090661132. 4

Question Number : 83 Question Id : 92090615471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 G pyF R MU E:

YA | : B & RIS S & ARG Sid &1 HEUTNI 7 & &9 § §H] Sirdl |
HYF || ; HHUE T &1 RESHRI A4 el &1 3I&® Uiy g

IR HYA & 3MTeiier H, 19 AT U fabedl # ¥ Hel IR &1 984 Hifore

(1) YIRS TIE
2) HYTIARISH T E
(3) Y| TG g, AfbT U 11 A §

(4) HYT | MEY g, Al HYT 11 T

Options :

92090661129. 1
92090661130. 2
92090661131. 3
92090661132. 4

Question Number : 84 Question Id : 92090615472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : “Pietra-dura” is a pictorical mosaic work using semi precious
stones.
Statement II  : This technique can be found on walls cenotaphs and marble jali’s

in Taj Mahal.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement 11 is false
(4) Statement [ 15 false but Statement II is true

Options :

92090661133. 1

92090661134. 2

92090661135. 3
92090661136. 4

Question Number : 84 Question Id : 92090615472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Ay RTME:

HYF | TOH-GRI" 3E-agHed URRI & UORT ¥ &1 Ud |iaa Hioid id ¢l
HY 1| : T dB-d B dioHgd | R 9 9 Ared Siferdl § U/ off 96l g
JURIE Y & 3feiies |, I {3 MU fasedl 7 I ¥el IR &1 9494 SIS
(1) SYFIR IS IT

2)  HUTI AR 1S TR

(3) YA g, Afb YA 11 A &
(4) ®YF| HTA g, Afbd FUT 1 T 8

Options :

92090661133. 1
92090661134. 2
92090661135. 3



92090661136. 4

Question Number : 85 Question Id : 92090615473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  The famous sculpture “Santhal Family” is regarded as the first
public modernist sculpture in India.

Statement 11 :  Debi Prasad Roy Chowdhury made this sculpture with cement
mixed with pebbles.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement I is true but Statement I1 is false

(4) Statement 1 is false but Statement Il is true

Options :

92090661137. 1
92090661138. 2
92090661139. 3
92090661140. 4

Question Number : 85 Question Id : 92090615473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fRdsERume:

@Y | ;YT URAR" AHS Uikig Jfd &1 WRd 3 UYH e sefAddrare Jfd @
iG]

HYF 1 : Sl UHTE g diedt A Hite &1 fedt & wry MR 39 gid & a7 O
S DY & HTdld |, i S 70 fdwed] § 9 98l 3¢ &1 994 $ifeiw

(1) SR NSAT TG

@ ®YF IR IEE I B

(3) @Y | HA g, Wi YA Il 3 §
(4) YT TG g, Al HYF 1 T §

Options :

92090661137. 1
92090661138. 2
92090661139. 3
92090661140. 4

Question Number : 86 Question Id : 92090615474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  Dhokra is a metal craft of Bastar, Rajasthan made from lost wax
process.
Statement I  : It is an elaborative process in which black soil is mixed with

cement and water.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement [ is true but Statement I is false
(4) Statement 1 is false but Statement Il is true
Options :
92090661141. 1

92090661142. 2
92090661143. 3



92090661144. 4

Question Number : 86 Question Id : 92090615474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R ABFERTME:

®UF | : cld faqe 5 ufshar & fFAfifd aweR, e &1 @ g e 81

®UA |l - gg Uah faxga uithan ¢ forad st gt &1 dide 9 it & ary e o 21
TR FYA & 3Meles H, I AU MU f[abedl # ¥ ¥l I &1 994 $iforw

(1) @ISR NS T8

(2)  HYFTI AR NS I E

(3) YT HA g, dfh Y 1| ST B
(4) BYA | AT B, Afb U 11 TT 8

Options :

92090661141. 1
92090661142. 2
92090661143. 3
92090661144. 4

Question Number : 87 Question Id : 92090615475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct about Dhan Raj Bhagat?

(A) Dhan Ra; Bhagat was a traditional folk artist.

(B) Dhan Raj Bhagat provided a breakthrough from the use of clay.

(Cy Dhan Raj Bhagat relates the natural or reduced to basic geometric shapes.
(D) Dhan Raj Bhagat was influenced by Mannerism.

(E) Dhan Raj Bhagat was inspried by Dhokra artists.

Choose the correct answer from the options given below :

(1) AandE only
(2) D and E only
(3) B and C only
(4) D and C only



Options :

92090661145. 1
92090661146. 2
92090661147. 3
92090661148. 4

Question Number : 87 Question Id : 92090615475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 6l TG & Gay H Fafafad § 9 &9 9 dua ugl 82

A YRS HITd Uh WIRTEIE! dich paldR U |

B. RIS T H fig! & WanT 9§ y¥hie ueH &

C. RIS HTd Uihfdd ¥ & Jo A sihfadl d& aafid &4 4 defed U
D.  YRTS HITd WM dfer=g | yifad 41

E.  YRIS WA S SarbRI 4 URd 3

A< fg 7Tu faereut # 9 Wel IR &1 =9 Sifoi -

(1) dd ASIRE
(2) @dd D3RE
(3) ad B3R C
(4) &dd DSRC
Options :

92090661145. 1
92090661146. 2
92090661147. 3
92090661148. 4

Question Number : 88 Question Id : 92090615476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following paintings were created by M.F. Husain?

(A) Hanuman

(B) After the cyclone

(C) A Tiger caught in Bamboo shoots
(D) Playmates

(E) Boat Man

Choose the correct answer from the options given below :

(1) B and E only
(2) B and D only
(3) AandC only
(4 CandE only

Options :

92090661149. 1
92090661150. 2
92090661151. 3
92090661152. 4

Question Number : 88 Question Id : 92090615476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Profeifed 3 3 & & e tiaw, 89 3 e &2

A BIHM
B. 3B & W

C. UTHR®Ic 3 g cH
D. THeH

LY

E. dleiA
12 fau o faswedi # 9 gl STk &1 994 SIfe

(1) &dd BIIRE
(2) @ad B3RD
(3) dad ASIRC
(4) Hdd CIARE

Options :



92090661149. 1
92090661150. 2
92090661151. 3
92090661152. 4

Question Number : 89 Question Id : 92090615477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of these sites are excavated in India?

(A) Bothal

(B) Kalibangan
(C) Dholavira

(D) Rakhinagri
(E) Mohenjo Daro

Choose the correct answer from the options given below :

(1)  AandDonly
(2) B and C only
(3 C and D only
(4) E and C only

Options :

92090661153. 1
92090661154. 2
92090661155. 3
92090661156. 4

Question Number : 89 Question Id : 92090615477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e A 9 o5 el &1 I YR H 8311 87
A dyd

B. BIoETH

C. IR

D. @l TR

E.  Higauiars
i feu v fawedi § 9 9el I &1 904 Hiferg :

(1) &dd A3RD
(2) Pdd BARC
(3) &dd C3RD
(4) Had ESARC

Options :

92090661153. 1
92090661154. 2
92090661155. 3
92090661156. 4

Question Number : 90 Question Id : 92090615478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of these artists were associated with Romanticism art movement?

(A) Camille Pissarro
(B) William Blake

(Cy  Francisco Goya
(D)  Peter Paul Rubens

(E) Jean- Francois Millet

Choose the correct answer from the options given below :

(1) B and D only
(2) AandEonly
(3 E and D only
(49) CandB only

Options :



92090661157. 1
92090661158. 2
92090661159. 3
92090661160. 4

Question Number : 90 Question Id : 92090615478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad # @ @ daeR FHFEG Sl sidiad 9 Hafid 37
A, Sid R

B. [faferan s

C. hiRtrga! Tl

D. Uler Uld &

E.  SiF-I6ieTs fHee

19 g U faehedt H 9 Wel IR &1 994 HIfo -

(1) &ad B3RD
(2) ®dd ASIRE
(3) &dd ESRD
(4) Pdd CIARB

Options :

92090661157. 1
92090661158. 2
92090661159. 3
92090661160. 4

Question Number : 91 Question Id : 92090615479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following qualities should be in a Logo?

(A) Simple, Creative, Colourful

(B)  Symbol, Readable, Typeface

(C) Monogram , Creative, 3-Dimensional
(D)  Timeless, Readable, Simple

(E) Colourful, solid, Easy to change

Choose the correct answer from the options given below :

(1) AandD only
(2) D only

(3) CandA only
(4) E and B only

Options :

92090661161. 1
92090661162. 2
92090661163. 3
92090661164. 4

Question Number : 91 Question Id : 92090615479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YU (@) # 5 & F B A U gF T

A, WA, TATHS, T

B. Wi, a1y, T3Uhy

C. Mg, TS, Fsmard

D. IANdId, 93-1d, TR

E. Ol 319, grHagde uRad-ia

=19 fag ¢ faseut 7 9 Wel IR 1 99 Hifor -

(1) &dd A3NRD
(2) &dd D

(3) &dd C3RA
(4) $dd E3RB

Options :



92090661161. 1
92090661162. 2
92090661163. 3
92090661164. 4

Question Number : 92 Question Id : 92090615480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following have to be considered while desigming an advertisement?

(A) Light and shade

(B) Target audience

(C)  Unique selling preposition
(D) INustration

Choose the correct answer from the options given below :

(1) B and C only
(2) A and B only
(3) AandD only
(4) C And D Only

Options :

92090661165. 1
92090661166. 2
92090661167. 3
92090661168. 4

Question Number : 92 Question Id : 92090615480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faqu & st | FafeiRad # 9 i R faaR fear s =nfge?
A TS T B

B. wITY®

C. 3fuH fashy s@yron
D. fEum
12 fu e faeseal ¥ I el IR 1 98- HIfT ;

(1) @ad B3R C
(2) Fdd ASIRB
(3) &dd ASRD
(4) &ad C3RD
Options :
92090661165. 1
92090661166. 2

92090661167. 3
92090661168. 4

Question Number : 93 Question Id : 92090615481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are related to Digital printing?
(A) Movable Types

(B) CMYK
(C) Thermography
(Dy RGB

Choose the correct answer from the options given below :

(1) A and C only
(2) B and D only
(3) B and A only
(4) C and D only
Options :
92090661169. 1

92090661170. 2
92090661171. 3



92090661172. 4

Question Number : 93 Question Id : 92090615481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafafEd 7 9 $19-H fSfoed ggu 3 ¥6ftd &2

A, fagrsgersy

B. CMYK

C. dmgg

D. RCB

i< g 7Y faeheul H 9 Wel SR &1 994 S -
(1) oad ASIRC

(2) ad B3IRD

(3) ad BIRA

(4) &dd C3IARD

Options :

92090661169. 1
92090661170. 2
92090661171. 3
92090661172. 4

Question Number : 94 Question Id : 92090615482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List I1 :

List I List I1
(A) Kaliva Mardana (I)  Basohh
(B) Yogimi (II) Kangra
(C) Krishna Embracing Gopis  (III) Biyjapur
(D) Rasamanjari (IV) Guler

Choose the correct answer from the options given below :

(1)  (A)-(D), (B)-(1ID), (C)-(IV), (D)-(D)

2 (A)-(IV), (B)-(D), (C)-(I), (D)-(I1)

(4)  (A)-(ID, (B)-(IV), (C)-(I), (D)-(I1L)
Options :

92090661173. 1
92090661174. 2
92090661175. 3
92090661176. 4

Question Number : 94 Question Id : 92090615482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At | & a1y g 11 F A Sifor

- i
(A) I HEA () S
(8) T Iy SIS
(©) P TSR Ml (VRIS
(0) TEHe (V) TeR

2 feu Tt fasedi # 9 9 IR &1 994 ST

(1 (A=, (B)-(), (C)-(V), (D)-(I)
(2)  (A)-(1V), (B)-(I1), (C)-(), (D)-(In)
(3)  (A)-(m), (B)-(11), (C)-(IV), (D)-(1)
(@) (A)-(, (B)-(IV), (O)-(1), (D)-(11)

Options :
92090661173. 1



92090661174. 2
92090661175. 3
92090661176. 4

Question Number : 95 Question Id : 92090615483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 :

List I List I1
(A) Children (I Jyoti Bhatt
(B) Dewvi (Ih K.C.S. Panikar
(C) Words and Symbols (IIT) Laxma Goud
(D) Landscape of Turkey (IV) Somnath Hore

Choose the correct answer from the options given below :

(1) (A)-aD, B)-(D), (C)-(ILI), (D)-(IV)
(2)  (A)-aID), (B)-aD), (C)-(I), (D)-IV)
(3) (A)-(IV), (B)-(I), (C)-(IL), (D)-(I1I)
(4)  (A)-(D, (B)-D), (C)-(IV), (D)-(I1L)

Options :

92090661177. 1
92090661178. 2
92090661179. 3
92090661180. 4

Question Number : 95 Question Id : 92090615483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 91y G 11 B e S

gdl-| T -
(A) o= () wEfd Hee
(8) <dt () &4 ufFER
(C) ¥egd Udid () WIS
(D) T P14 (V) THATY 8R

1< feu U faeedi # 9 9el I &1 944 DIl

(1) (A)-(), (B)-(1), (©)-(1), (D)-(IV)
(2)  (A)-(In), (B)-(I1). (C)-(1), (D)-(IV)
(3)  (A)-(V), (B)-(1), (C)-(In), (D)-(1lN)
4)  (A)-(), (B)-(IN), (C)-(1V), (D)-(I1)

Options :

92090661177. 1

92090661178. 2

92090661179. 3
92090661180. 4

Question Number : 96 Question Id : 92090615484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT :

List I Last II
(A) Eduord Munch () Surrealism
(B) Andre Derain (II) Expressionism
(C) Joan Miro (IIT) Fauvism
(D) Claude Monet (IV) Impressionism

Choose the correct answer from the options given below :

(1) (A0, (B)-AV), (C)-(11L), (D)~(1L)
(2)  (A)-(ID, (B)-d1LD), (C)-(D), (D)-(IV)
3 (A)-), (B)-ID), (C)-(IV), (D)~(III)
(4)  (A)-ID), (B)-(D, (O)-(I), (D)-(AV)

Options :

92090661181. 1

92090661182. 2



92090661183. 3
92090661184. 4

Question Number : 96 Question Id : 92090615484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & g 11 B e Sifoe

| IR
(A) UZTE Uy () fagurdarg
(B) T ) Sifiysdsarg
(C) S HRI (1) HIEarg
(D) TS HHE (IV) UHIEdrg

12 feu e fasedi & | 98l IR &1 984 DIt

(1 (A-), (B)-(V), (O)-(), (D)-(1N)
(2)  (A)-(), (B)-(), (C)-(1), (D)-(IV)
(3) (A1), B)-(In), (C)-(IV), (D)-(1)
@) (A=), (B)-(1), (O)-(), (D)-(IV)

Options :

92090661181. 1
92090661182. 2
92090661183. 3
92090661184. 4

Question Number : 97 Question Id : 92090615485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List 11 :

Liast 1 List 11
(A) Birth of Venus (I)  Sandro Botticell
(B) Guernica (II) Paul Gauguin
(C) The Yellow Christ (IIT) Pablo Picasso
(D) Night Watch (IV) Rembrandt

Choose the correct answer from the options given below :

(1) (A)-0), (B)-(IID), (C)«(II), (D)-IV)
(2)  (A)-D), B)-(IV), (C)-(I1I), (D)-(I)
3 (A)-@V), (B)-(D), (C)-(ID), (D)-(ILI)
(4)  (A)-(@V), (B)-(I1D), (C)-(ID), (D)-(I)

Options :

92090661185. 1

92090661186. 2

92090661187. 3

92090661188. 4

Question Number : 97 Question Id : 92090615485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 1 g 11 B e Sifee

-| gt
) 94 3 g () sl Sifcdd
(8) DI () i
(€) T PIRE (1) Tl fowrer
(D) gcad (Iv)

1 fdu e fasedi & | W&l IR &1 984 DiIT;

(1 (A=), B)-(1), (C)-(1), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (C)-(l), (D)-(1)
(3)  (A)-(V), (B)-(1), (C)-(1), (D)-(1)
4)  (A)-(V), (B)-(), (©)-(l), (D)-(1)

Options :
92090661185. 1



92090661186. 2
92090661187. 3
92090661188. 4

Question Number : 98 Question Id : 92090615486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List 1I
(A) Gates of Paradise (I)  Michelangelo
(B) Davwvid (II) Lorenzo Ghiberti
(C) Creation of Adam (I11) Donatello
(D) Vitruvian Man {(IV) Leonardo da Vinei

Choose the correct answer from the options given below :

(1)  (A)-(ID), (B)-(ILD), (C)~(I), (D)-(IV)
(2)  (A)-(D), (B)-ID), (C)-(I1D), (D)-(IV)
(3)  (A)-ID), (B)-aD), (C)-(D), (D)-(IV)
(4)  (A)-(ID), (B)-(IV), (C)-(IL), (D)-(I)

Options :

92090661189. 1
92090661190. 2
92090661191. 3
92090661192. 4

Question Number : 98 Question Id : 92090615486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | & 9y gt | &1 e Fifer

gl gt
() Tew e WRIsEw () WD Tore
(B) S () R feraef
() fopuz 3 UsH (1y SHERE
(D) fasfaga a4 (v) ferefirel g fa=ht

i feu v fawedi § 9§ 9El I &1 984 Do

(1) (A=), (B)-(), (C)-(1), (D)-(IV)
(2) (A=), B)-(IN), (C)-(I), (D)-(IV)
(3) (A=), (B)-(1n, (C)-1). (D)-(IV)
4)  (A)-(m), B)-(1V), (C)-(), (D)-()

Options :

92090661189. 1
92090661190. 2
92090661191. 3
92090661192. 4

Question Number : 99 Question Id : 92090615487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 :

List [ List 11
(A) Geeta Kapur (D Art critic
(B) Prahlad Kakkar (II) Advertiser
(C) Krishna Reddy (IIT) Printmaker
(DY R.K. Laxman (IV) Cartoonist

Choose the correct answer from the options given below :

(1) (A)-aID), (B)-(IV), (C)-(D), (D)-(1I)
(2) (A1), B)-ID), (C)-(I1L), (D)-(IV)
(3 (A)-aD, (B)-(I1I), (C)-(AV), (D)-(I)
4)  (A)-1AV), (B)-AID, (C)-(I), D)-(D)

Options :
92090661193. 1



92090661194. 2
92090661195. 3
92090661196. 4

Question Number : 99 Question Id : 92090615487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 & Ay g 1 & e St

| Tt -
(&) T HR () ol GHI&R
(B) Uedlg b3 () fasraeTn
(€ PonIg () friede
(D) SIR.&. A&H (IV) BRI

4 fau 77U fasedi # | 98l IR &1 994 DifrT:

(1) (A=), (B)-(IV), (O)-(1), (D)-(I)
(2} (A=, B)-(1), (C)-(l), (D)-(IV)
(3)  (A)-(I), (B)-(Il1), (C)-(1V), (D)-(1)
(@) (A)-(V), (B)-(I1D), (C)-(IN), (D)-(1)

Options :

92090661193. 1
92090661194. 2
92090661195. 3
92090661196. 4

Question Number : 100 Question Id : 92090615488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech List I with List 11 :

List I List I1
(A) Lion Capital (D  Ellora
(B) Kailashnath Temple (ITy Aihole
(C) Sun Temple (IIT) Sarnath
(D) Durga Temple (IV) Konark

Choose the correct answer from the options given below :

(1) (A-D, (B)-(ID), (C)-(AV), (D)-(ILI)
(2 A)-(D), (B)-(D), (C)~(III), (D)-(IV)
(3)  (A)-(ID), (B)-(IID), (C)-(IV), (D)-(D)
(4)  (A)-(IID, (B)-(D), (C)-(IV), (D)-(1L)

Options :

92090661197. 1

92090661198. 2

92090661199. 3
92090661200. 4

Question Number : 100 Question Id : 92090615488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A, B)-(1), (©O)-(V), (D)-(I)
(@) (A=), B)-(), ([C)-(l), (D)-(IV)
(3) (A=), (B)-(1), (C)-(1V), (D)-()
4) (A0, B)-(1), (C)-(IV), (D)-(I)

Options :
92090661197. 1
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